Q09

“igure shows three resistor configurations (R, ),
(Rz), and (R3) each connected to 3 V battery. If the
power dissipated by the configuration (R,), (R;) and

(Rs) is Py, P2 and P, respectively, then (2008)
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Sol. In configuration (R)), the resistances form g by
anced Wheatstone bridge. Effective resistance of b
configuration is Ry = 22 || 22 =1 2. The effective rs.
sistance of the configuration (Rz) is Ry = (20| 20))
10 =10 || 12 = 0.5Q. The effective resistance of
the configuration (R3) is Rz = 2 (). Thus, the powes
dissipated in the three configurations are

P=V?/ R, =9W,
P,=V?/R; =18 W, and
Py =V?/R3=45W.

Ans. CO



